## **On some** *q***-Pascal's like triangles**

## **Toufik Mansour<sup>1</sup> and Matthias Schork<sup>2</sup>**

<sup>1</sup> Department of Mathematics, University of Haifa 31905 Haifa, Israel

e-mail:tmansour@univ.haifa.ac.il

<sup>2</sup> Camillo-Sitte-Weg 25, 60488 Frankfurt, Germany e-mail: mschork@member.ams.org

**Abstract:** We consider *q*-analogs of Pascal's like triangles, which were studied by Atanassov in a series of papers.

**Keywords:** Pascal triangle, Sequence, *q*-binomial coefficient. **AMS Classification:** 11B37.

Atanassov [2, 3] introduced and studied new types of Pascal's like triangles, which were partly motivated by [4, 6, 7]. In a subsequent series of papers appearing in the same journal, Atanassov derived further properties of these triangles and showed connections to various well-known sequences of numbers. In this paper, we study q-analogs of these new types of Pascal's like triangles as described in [2, 3]. As a paradigmatic example, we construct the following infinite q-triangle

which is a q-analog of the first triangle given in [2]. Note that the *i*th element in the middle column is given by  $\prod_{k=1}^{i} (q^k + 1) = \prod_{k=0}^{i-1} (1 + q^{k+1})$ , for  $i \ge 0$ , and reduces to  $2^i$  for  $q \to 1$ .

In the general case, let the elements of the infinite q-triangle be

where  $a_{ij}$  are arbitrary real (or complex) numbers, and for every  $i = 0, 1, 2, \ldots$  and

- for every *j* such that  $1 \le j \le i$ ,  $a_{ij} = q^j a_{i(j-1)} + a_{(i-1)(j-1)}$ ;
- for every j such that  $i \leq j \leq 2i 1$ ,  $a_{ij} = q^{2i-j}a_{i(j+1)} + a_{(i-1)(j-1)}$ .

Clearly, for  $q \rightarrow 1$ , this recurrence relations reduce to those of the Pascal's like triangles [2, 3]. As in the undeformed case studied by Atanassov, the triangle is symmetric around its middle column, and one may regard the elements  $a_{i0}$  ( $i \ge 0$ ) on the left (and right) boundary diagonal as "initial values", determining the entire q-triangle through the defining recurrences.

We now give an expression for an arbitrary element  $a_{ij}$  in terms of the elements  $a_{i0}$ . It is a q-analog of<sup>1</sup> [2, Lemma 2].

**Proposition 1.** Let the infinite sequence  $\{c_i\}_{i\geq 0}$  of arbitrary real (or complex) numbers be given, and let, for every  $i \geq 0$ ,  $a_{i0} = a_{i(2i)} = c_i$ . Then one has, for all  $1 \leq j \leq i$ , that

$$a_{ij} = a_{i(2i-j)} = \sum_{k=0}^{j} q^{\binom{k+1}{2}} \binom{j}{k}_{q} c_{i-j+k}.$$

In particular, the elements of the middle column are given by

$$a_{ii} = \sum_{k=0}^{i} q^{\binom{k+1}{2}} \binom{i}{k}_{q} c_{k}.$$

Now, we present two examples for the above proposition. To do that, we use the fact that

$$\prod_{k=0}^{n-1} (1+q^k t) = \sum_{k=0}^n q^{\binom{k}{2}} \binom{n}{k}_q t^k.$$
(1)

**Example 2.** Let us choose  $c_i = q^{mi}$ , that is,  $a_{i0} = a_{i(2i)} = q^{mi}$ . then the middle column in the *q*-triangle is given by

$$a_{ii} = \sum_{k=0}^{i} q^{\binom{k}{2}} \binom{i}{k}_{q} q^{(m+1)k} = \prod_{k=0}^{i-1} (1+q^{k+m+1}).$$

In the special case m = 0 one has  $c_i = 1$ , that is,  $a_{i0} = a_{i(2i)} = 1$ , and one recovers the q-triangle displayed at the beginning.

**Example 3.** If we set  $a_{i0} = a_{i(2i)} = [i+1]_q = \frac{1-q^{i+1}}{1-q}$ , then the middle column in the q-triangle is given by

$$a_{ii} = \sum_{k=0}^{i} q^{\binom{k}{2}} \binom{i}{k}_{q} q^{k} + q^{2}[i]_{q} \sum_{k=0}^{i-1} q^{\binom{k}{2}} \binom{i-1}{k}_{q} q^{2k}$$
$$= \prod_{k=0}^{i-1} (1+q^{k+1}) + q^{2}[i]_{q} \prod_{k=0}^{i-2} (1+q^{k+2}).$$

<sup>1</sup>Note, however, that there is a typo in [2, Lemma 2].

By some straightforward manipulations, one derives from this formula that

$$a_{(i+1)(i+1)} = (1+q^{i+1})a_{ii} + (1+q^{i+1})q^{i+2}\prod_{k=0}^{i-2}(1+q^{k+2}).$$

For  $q \rightarrow 1$ , one obtains for the undeformed triangle associated to  $a_{i0} = a_{i(2i)} = i + 1$  that  $a_{(i+1)(i+1)} = 2a_{ii} + 2^i$ , as observed by Atanassov (last triangle in [2], note that the shift in the power of 2 stems from the fact that Atanassov's numbering starts with i = 1, whereas our numbering starts with i = 0).

Let us return to the general case.

**Theorem 4.** Let the infinite sequence  $\{c_i\}_{i\geq 0}$  of arbitrary real (or complex) numbers be given, and let, for every  $i \geq 0$ ,  $a_{i0} = a_{i(2i)} = c_i$ . Then the generating function for the elements of the middle column is given by

$$\sum_{i\geq 0} a_{ii}t^i = \sum_{k\geq 0} \frac{q^{\binom{k+1}{2}}c_k t^k}{\prod_{i=0}^k (1-q^i t)}.$$

*Proof.* By Proposition 1, we have that

$$\sum_{i\geq 0} a_{ii}t^{i} = \sum_{i\geq 0} \left( \sum_{k=0}^{i} q^{\binom{k+1}{2}} \binom{i}{k}_{q} c_{k} \right) t^{i} = \sum_{k\geq 0} q^{\binom{k+1}{2}} \left( \sum_{i\geq 0} \binom{i+k}{k}_{q} t^{i} \right) c_{k}.$$

By the fact that  $\frac{1}{\prod_{k=0}^{n-1}(1-q^kt)} = \sum_{k\geq 0} {\binom{n-1+k}{k}}_q t^k$ , we obtain that

$$\sum_{i\geq 0} a_{ii}t^{i} = \sum_{i\geq 0} \left(\sum_{k=0}^{i} q^{\binom{k+1}{2}} \binom{i}{k}_{q} c_{k}\right) t^{i} = \sum_{k\geq 0} \frac{q^{\binom{k+1}{2}} c_{k}t^{k}}{\prod_{i=0}^{k} (1-q^{i}t)},$$

as required.

Above, we prescribed the elements on the left (and right) boundary diagonal and determined the remaining elements of the q-triangle using the defining recurrences, in particular the elements of the middle column. It is also possible to turn the perspective and prescribe the elements of the middle column. In the case q = 1, Atanassov [2, 3] studied this relation between these sequences of elements for several well-known sequences of numbers. By induction, we obtain the following q-analog of his result [2, Page 33].

**Proposition 5.** Let the infinite sequence  $\{d_i\}_{i\geq 0}$  of arbitrary real (or complex) numbers be given, and let, for every  $i \geq 0$ ,  $a_{ii} = d_i$ . Then, for all  $0 \leq j \leq i - 1$ , one has that

$$a_{ij} = a_{i(2i-j)} = q^{j - \binom{i+1}{2}} \sum_{k=0}^{i-j} (-1)^k q^{\binom{k}{2}} \binom{i-j}{k}_q d_{i-k}.$$

Next, we present some examples for the above proposition, where we use (1).

**Example 6.** If one has in the middle column the consecutive q-numbers (for q = 1, see [2, Page 33]), that is,  $d_i = [i+1]_q = \frac{1-q^{i+1}}{1-q}$ , the elements on the left and right diagonal must be

$$\begin{aligned} a_{i0} &= a_{i(2i)} = q^{-\binom{i+1}{2}} \sum_{k=0}^{i} (-1)^{k} q^{\binom{k}{2}} \binom{i}{k}_{q} [i+1-k]_{q} \\ &= q^{-\binom{i+1}{2}} \sum_{k=0}^{i} (-1)^{k} q^{\binom{k}{2}} \binom{i}{k}_{q} + q^{1-\binom{i+1}{2}} \sum_{k=0}^{i} (-1)^{k} q^{\binom{k}{2}} \binom{i}{k}_{q} [i-k]_{q} \\ &= q^{-\binom{i+1}{2}} \sum_{k=0}^{i} (-1)^{k} q^{\binom{k}{2}} \binom{i}{k}_{q} + [i]_{q} q^{1-\binom{i+1}{2}} \sum_{k=0}^{i-1} (-1)^{k} q^{\binom{k}{2}} \binom{i-1}{k}_{q} \\ &= q^{-\binom{i+1}{2}} \prod_{k=0}^{i-1} (1-q^{k}) + [i]_{q} q^{1-\binom{i+1}{2}} \prod_{k=0}^{i-2} (1-q^{k}), \end{aligned}$$

which implies that  $a_{00} = 1$ ,  $a_{10} = 1$ , and  $a_{i0} = 0$  for all  $i \ge 2$ . Thus, the sequence of elements  $1, 1, 0, 0, 0, \ldots$  on the boundary diagonals is the same as in the case q = 1.

**Example 7.** If one has in the middle column the consecutive squares of the q-numbers (for q = 1, see [2, Page 33]), that is,  $d_i = [i + 1]_q^2$ , the elements on the left and right diagonal must be

$$\begin{aligned} a_{i0} &= a_{i(2i)} = q^{-\binom{i+1}{2}} \sum_{k=0}^{i} (-1)^{k} q^{\binom{k}{2}} \binom{i}{k}_{q} [i+1-k]_{q}^{2} \\ &= q^{-\binom{i+1}{2}} \sum_{k=0}^{i} (-1)^{k} q^{\binom{k}{2}} \binom{i}{k}_{q} + 2q^{1-\binom{i+1}{2}} \sum_{k=0}^{i} (-1)^{k} q^{\binom{k}{2}} \binom{i}{k}_{q} [i-k]_{q}^{q} \\ &+ q^{-\binom{i+1}{2}} \sum_{k=0}^{i} (-1)^{k} q^{\binom{k}{2}} \binom{i}{k}_{q} [i-k]_{q}^{2}, \end{aligned}$$

which, by the previous example, implies that

$$a_{i0} = a_{i(2i)} = q^{-\binom{i+1}{2}} \left( \prod_{k=0}^{i-1} (1-q^k) + (1+2q)[i]_q \prod_{k=0}^{i-2} (1-q^k) + [i]_q [i-1]_q \prod_{k=0}^{i-3} (1-q^k) \right),$$

that is,  $a_{00} = 1$ ,  $a_{10} = \frac{1+2q}{q}$ ,  $a_{20} = \frac{1+q}{q^3}$  and  $a_{i0} = 0$  for all  $i \ge 3$ . For  $q \to 1$ , the sequence of elements on the diagonals becomes  $1, 3, 2, 0, 0, 0, \dots$ , as mentioned in [2].

**Example 8.** If one has in the middle column the consecutive inverses of the q-numbers, that is,  $d_i = [i+1]_q^{-1}$ , the elements on the left and right diagonal must be

$$\begin{aligned} a_{i0} &= a_{i(2i)} = q^{-\binom{i+1}{2}} \sum_{k=0}^{i} (-1)^{k} q^{\binom{k}{2}} \binom{i}{k}_{q} \frac{1}{[i+1-k]_{q}} \\ &= \frac{1}{q^{\binom{i+1}{2}}[i+1]_{q}} \sum_{k=0}^{i} (-q)^{-k} q^{\binom{k+1}{2}} \binom{i+1}{k+1}_{q} \\ &= \frac{(-1)^{i-1}}{[i+1]_{q}} \left( \prod_{k=0}^{i} (1-q^{k-1}) - 1 \right), \end{aligned}$$

*that is*,  $a_{00} = 1$ ,  $a_{i0} = \frac{(-1)^i}{[i+1]_q}$  for all  $i \ge 1$ .

In analogy to the above Theorem 4, it is possible to express the generating function for the elements on the boundary diagonals in terms of the elements  $d_i$  of the middle column. Since the elements on the right diagonal equal the elements on the left diagonal, it suffices to consider the former.

**Theorem 9.** Let the infinite sequence  $\{d_i\}_{i\geq 0}$  of arbitrary real (or complex) numbers be given, and let, for every  $i \geq 0$ ,  $a_{ii} = d_i$ . Then the generating function for the elements on the left diagonal is given by

$$\sum_{i\geq 0} a_{i0}t^i = \sum_{j\geq 0} \frac{q^{j+1}d_jt^j}{\prod_{k=1}^{j+1}(t+q^k)}.$$

*Proof.* By Proposition 5, we have that

$$\sum_{i\geq 0} a_{i0}t^{i} = \sum_{i\geq 0} \left( q^{-\binom{i+1}{2}} \sum_{k=0}^{i} (-1)^{k} q^{\binom{k}{2}} \binom{i}{k}_{q} d_{i-k} \right) t^{i},$$

which is equivalent to

$$\sum_{i\geq 0} a_{i0}t^{i} = \sum_{j\geq 0} \sum_{i\geq 0} \left( (-1)^{i} \binom{i+j}{i}_{q} \frac{t^{i}}{q^{(j+1)i}} \right) q^{\binom{j+1}{2} - (j+1)j} d_{j}t^{j}$$

By the fact that  $\frac{1}{\prod_{k=0}^{n-1}(1-q^kt)} = \sum_{k\geq 0} {\binom{n-1+k}{k}}_q t^k$ , we obtain that

$$\sum_{i\geq 0} (-1)^i \binom{i+j}{i}_q \frac{t^i}{q^{(j+1)i}} = \prod_{k=1}^{j+1} \frac{1}{1+q^{-k}t} = q^{\binom{j+2}{2}} \prod_{k=1}^{j+1} \frac{1}{t+q^k}.$$

Thus,

$$\sum_{i\geq 0} a_{i0}t^i = \sum_{j\geq 0} \frac{q^{j+1}d_jt^j}{\prod_{k=1}^{j+1}(t+q^k)},$$

as required.

Atanassov [3] considered as a particular sequence the Fibonacci numbers  $F_n$ . On the one hand, one may choose the sequence  $c_i = F_i$  and prescribe them on the left and right diagonal, that is,  $a_{i0} = a_{i(2i)} = F_i$ , and determine the middle column. Atanassov mentioned without proof that  $a_{ii} = F_{2i}$ . In fact, using the second equation of Proposition 1, one finds for  $q \to 1$  that

$$a_{ii} = \sum_{k=0}^{i} \binom{i}{k} F_k = F_{2i},$$

using in the second equation a well-known relation for the Fibonacci numbers (see, e.g., [1]). In a similar fashion, one can prescribe the Fibonacci numbers on the middle column, that is,  $a_{ii} = F_i$  and determine the elements on the diagonal. Atanassov mentioned without proof that  $a_{i0} = (-1)^{i+1}F_i$ , for  $i \ge 1$ . Using Proposition 5 for  $q \to 1$  with  $d_i = F_i$ , one finds that

$$a_{i0} = \sum_{k=0}^{i} (-1)^k \binom{i}{k} F_{i-k} = (-1)^{i+1} F_i,$$

using in the second equation another well-known relation for the Fibonacci numbers. Now, it seems to be interesting to consider a q-analog of this situation. A q-analog of the Fibonacci numbers satisfying  $F_0(q) = 0$ ,  $F_1(q) = 1$ , and  $F_{n+1}(q) = F_n(q) + q^{n-1}F_{n-1}(q)$  was considered by Schur [8] (see also [1, 5]). The first study would be to let  $a_{i0} = a_{i(2i)} = F_i(q)$  and try to find a relation between  $a_{ii}$  and  $F_{2i}(q)$ , generalizing the relation of the undeformed case; conversely, the second study would be to let  $a_{ii} = F_i(q)$  and try to find  $a_{i0}$ .

## References

- [1] Andrews, G. E. (2004) Fibonacci numbers and the Rogers-Ramanujan identities, *Fibonacci Quarterly*, 42(1), 3–19.
- [2] Atanassov, K. T. (2007) On some Pascal's like triangles. Part 1, *Notes on Number Theory and Discrete Mathematics*, 13(1), 31–36.
- [3] Atanassov, K. T. (2007) On some Pascal's like triangles. Part 2, *Notes on Number Theory and Discrete Mathematics*, 13(2), 10–14.
- [4] Bondarenko, B. A. (1993) *Generalized Pascal Triangles and Pyramids, Their Fractals, Graphs and Applications*, The Fibonacci Association.
- [5] Carlitz, L. (1974) Fibonacci notes 3: *q*-Fibonacci numbers, *Fibonacci Quarterly*, 12(4), 317–322.
- [6] Goldwasser, J., W. Klostermeyer, M. Mays & G. Trapp (1999) The density of ones in Pascal's rhombus. *Discrete Mathematics*, 204, 231–236.
- [7] Leyendekkers, J. V., A. G. Shannon & J. M. Rybak (2007) Pattern recognition: Modular Rings and Integer Structure. Raffles KvB Monograph No. 9, North Sydney.
- [8] Schur, I. (1917) Ein Beitrag zur additiven Zahlentheorie und zur Theorie der Kettenbrüche, Sitzungsber., Akad. Wissensch. Berlin, *Phys.-Math. Klasse*, 302–321.